is ready for the Equations Test Friday!! HOMEWORK

Algebra 1 CC Period

Unit #2 Review Sheet: Lessons 2-1 - 2-6

esson 1: Equations and Their Solutions (Key Terms: Expression, Equation, Solution)
1) Explain why 2 + 2 =5 is an equation.
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2) Determine whether the following values for the given variables are solutions to the given equations. ~

RS 2 =33 whenfx=i7 B. x21—2x+5=5;whenx=-2 C.zx+3=~7;when x=-15
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Lesson 2: Seeing Structure to Solve Equations (Key Term: Inverse Operations)

1) Find the value of x that solves each equation. In each case, first identify the operations that have occurred to x
and reverse them. Show each step.

x;9:/g:128 B. -%(6x+3)=8
ey 2X+ X=8
(R -4 Ll
. 20 R i
X;_g'l_z\: '—zx =
x=F=35)

2) Setup an equation that translates the following verbal phrases into mathematics and then solve.
Thre{ times]th difference of a nug)rer and four is equal to twelve.
3 (n -4)y =12
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Lesson 3: A Linear Equation Solving Review -

1) Find the solution for each of the following equations. Check that your final answers make the equations true.
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Lesson 4: Justifying Steps in Solving an Equation (Key Terms: Additive & Multiplicative Property of Equality)
nsider the equation 5x — xéx +2)= 4x +3) Fill in the justifications below.
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Lesson 5: Linear Word Problems (Key Terms: Deﬁ?egthe Vaz;ta:ble)
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1) Marty and Melinda went out to lunch. Their bil{totale
much was Melinda's lunch?
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Step #2: x(5 —3) - 6=4x+12

- 18E2A-4+2)

2x—6=4x+12

9=x
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Step #5: 2x -2 justiication: Comm utntive Aoperty
-18 =2x
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19. Marty’s lunch cost $3[more than Melinda’s. How

Mar+y + Melinda =19
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2) Gregis currently 25 years older_than his daughter. In two years, he will be six times older than his daughter.
Set up let statements and an equation that relates to the situation. Then, determine the current age of Greg and
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Lesson 6: More Linear Equations and Consecutive Integer Games [Kefl’ 2 Consecuti\z Ifrtegers) D =3
1) ~Three consecutive integers have the property that when the

secopnd integer i

2) Three consecutive Evenlinteg

E@between the _ﬂ:sn.ntegee

d, the result is equal to ten less than the third integer. Find the three integers.

sy + 2(2nd) = 3¢d -\0 3n+2 n-—?
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gers have that property that the‘ratlo})f the first even integer and twe
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the difference of the third even mteger and second even integer. Find the three even mtegers
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3) The lengths of the sides of a triangle are consecutive
centimeters. Fi
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engths of all three sides.
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The ;- of a triangle i 51
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